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Open Ended Question;
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List 2-3 reasons why the CBR would be low. List 2-3 reasons why the CBR would be
high. List 2-3 reasons why the CDR would be low. List 2-3 reasons why the CDR would

be high. What would cause the CDR to decrease What could cause the CBR to
decrease?

Please enter your answer here.
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Open Ended Question;
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Name 2-3 countries in Latin America that appear to be in Stage 2 according to figures

2-12 (pg53) 2-14 (pg. 54) and 2-15 (pg 54) in your TEXT BOOK

Please enter your answer here.
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(a) Stage 2: The Gambia
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Open Ended Question;
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Please enter your answer here.

Demographic Transition Model Activity 12/18 @ﬁ@ﬂlfﬁ)(}d


https://cf.nearpod.com/neareducation/new/Question/367037538/iconflash.jpg?AWSAccessKeyId=AKIAINYAGM2YWP2OWQBA&Expires=2147483647&Signature=7GPvgiQstmqjfW%2FRJRl%2F%2FA6kv%2FA%3D&1538691405

DTM - MEKICO

Stage 1 Stage 2 Stage 3
50 [
: —
S g
o -
40 |- 100 LE“- =
o £
[ -
-1 80
30

N
o
|

l
M

Birth and death rates (per 1,000)

3
¥
o
o]
0
€
5,
%
I
|—N|F{—I

I I

| | ! ! ! ! ! !
1900 " 20 1940 1960 1980 2000

(b) Stage 3: Mexico
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Open Ended Question;
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According to your text, what stage is Mexico currently in? Describe some of

the challenges that Mexico has had with CBR.

Please enter your answer here.
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Open Ended Question;
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According to the text, what stage is Denmark currently in? What are some of

Denmark's challenges with their CDR?

Please enter your answer here.
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